Trimester 3 Review A Alg 1CP

Do not write on this paper. Do work and write answers in your spiral. Return this paper to your
teacher.

Write an algebraic expression or equation.

o .
1. 7 less than the product of 2 and a number cubed 2%
2. 10 increased by 5 times a number is 4 times the number plus 12. 10+ DX = 4x *\1

Evaluate. .
3. -d®-b?whenb=-2a=-5 4 a®-p3-4c)whena=-7,b=-3andc=5
o -79 4 AV
Simplify.
5, 73——2—(13-6+9)4 1\ 6. 2x-8)-(x-7) X—4
Solve.
7. —9-Y_.5 -Hip 8. Lx-4)-Llex+4) X=-%4
4 6 3
9.  —8x>240r2x-5>17 5 10, 7<6-4y<8 S _\ SN R
GXL-3 o XDHid AR LS

11.  Graph 3x+2y =6 by finding the x-intercept and the y—mfercepf

Nt SR (i 2 (N-wnk.=3)
12. Rewrite 3x+ 4y =16 inslope- m‘rercepT form and then graph.

NV =-34X r4

13. . Graphy=3 14. Graph x=-2

Find the slope of the line that passes through the given points.

15. (2,4)and (-1, 5) ""-L 16. (-4,7) and( 4 12)
3 undetined

Write an equation in slope-intercept form of the line fhaf
18. passes through points (6, -4) and (2, 8) \/ SRR V5
19. has a slope of -8 and a y-intercept of 12 y N s

17. (-6,-3)and (9, -3) Qf

20. is perpendicular to y = 2x + 1 and passes through the point (2, 5). \/3; = ;—_x +\p
21. is parallel to y = -9x - 3 and passes through the point (0, -5). = -OQx -
Solve the linear system using the substitution method.

2o, ~X*Y=3 (2"\) 2y, Da~b=0 ('2__)53

y=4x-1 —4a+5b =17

Solve the linear system using the elimination method.

—4x+2y =8 ( \) 6x +2y =2 ~
25. 3
2‘4' 4x -3y =-10 \ l 2 4x+3y =8 < \)ZD

Determine whether the linear sysfem has no solution, one solution or infinitely many solutions.




x-2y=3 \nhnitly 3x + 2y = 40 Sh T
o 2omea ROl wemee W gouhon

S -3x-2y =8
PWHNS !
Solve.
28. —-2x-8+17=5 .
px-8+17-5 53 10%
Solve and then graph on a number line. :
29." 3x+l=qordx-—5>7 30. -3<4-x<2 “’\ZX}:LI)
= " J< r R . »
Graph the iﬂeqt?gl/'fy‘ & X 2 ¢ ; :
3. y<-2x+3 32. -2x+4y =8 33. y<2
Simplify.
-1 i
BICN: 54x°y?  —~{pX 2 (x4 l
34 eyl [Ixoyl 35 2L 02 g Y [X 4 g
Ry -Bor? ) 1y AT 5

Add, subtract, or multiply to simplify.

37. (303+3-402)— 3a® —a+c13—ig 38. (—3az+5)+(—a2+4a—6) - 40> +40 -\
203-Tod +0 ¥ |

40. (3x+2)x-4) 2x*_ Or -8

39. (bx-4)éx+4) .
20x" -1 |
Factor the expression. L \
41, 2x% -10x+8 42. 22+By+2 43. 144X -25 (\2x+ B \2x-9
ACEED S VA TN ’
Solve the equation or write no real solution. (Simplify radical solutions!) A ;
4 2 4 — T/ / 2L - — ] 2 : / i, %
44, 4952 —64=0 2/1;.%%45, ¥ -7 -8 AR 4. X+3x=10 7 5,29
47. Solve x° —12x+4 =0 by completing the square. ) - @ v 4 \]-z
48. Solve 2x° +x—-2=0 by using the quadratic formula. X = - \ =T
49. Find the discriminant of 2x* -2x+3=0. — 20 4

50. Graph the equation y = X% +2x —3 by writing the equation in Completed Square (Vertex)
form, finding the coordinates of the vertex, and completing a table of values.

Simplify.

51 37 +47 67 — 2N 1 52. J72-418 ANZ

53, é—% NG +H 54. V3(/2+43) DIV 3
L‘.

Solve.

55. 8JX+3 = 64 56. 2x—-12+9=4

X =\o\ NO  Jownon
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